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101|R#A7 L 164 86 78| Kg |EE 1,728 56| & 3,240 1,080
102|357 L 1,600 1,600| Kg BB 1,566 151
111|&EEF £ 405 59 346| Kg |ERE 1,188 756|#8 12 1,782 444
114|&5EFE 127 127| Kg I 2,970 1,512
117[1E 20 20| Kg R 3,780 648
121|pblE & 18 13 5| Kg |ERE 1,620 1,512| £ 1,728

134[#= = 208 159 49| Kg |©B8B - = 2,592 1,300|185 2,808 2,484
137|&5ES. < 230 183 47| Kg |BE 4,320 3,024| &R 7,131 3,240
138|HA % 2 216 216| Kg we 2,160 1,404
140(5 I 14 14| Kg imE 72,000 51,840
147|E2 O 95 95| Kg |EE 9,720 b 7,560 5,000
168|BIEH AL H 544 174 370 Kg |EREE 1,080 810| &40 3,208 1,080
201|{Lb L 561 561| Kg EF - = 432 180
203|/hé L 77 77| Kg FfE 432 288
206| = 1F 690 690| Kg X 1,037 367
207|= A K 4 4l Kg Jtime 945

208| Mo % 102 102| Kg KI5 1,836 972
212|&5E.3Y 1,249 1,249 Kg F)I| - BB 2,268 1,100
252| VA EECH 71 65 6| Keg |@H 3,478 =] 5,292

254|E b ECH 361 361| Kg =] 3,186 1,166
303|1A 220 362 362| Kg B/ - B 972 500
305\ KA OB 57 57| Kg R 1,404 1,080

1/2




306|Le kY 2 2| Kg FE 1,080

315|7:b5 6 4 41 Kg RS 3,780

3191 h o 512 512 Kg K- = 2,700 547
332|117 WA EF 33 33 Kg E2p] 2,376 2,268
3BlHHY 65 5 60| Kg [%E 3,888 =1, 15,120 3,672
3541 <Y 56 25 31| Kg |FFE 1,836 1,620|F% 1,836 1,134
3/5|HEY 90 90| Kg timE - P E 1,620 600
356|L L& 5 5 Kg SR 864

3577~ E 52 52| Kg FEE 4,320 1,080
362| & 471 4711 Kg N 4,320 630
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512| A& AL 40 40| Kg b 1,450 1,390
523| A EARAT 2 O 64 64| Kg =] 5,724 1,296
54| ARE & 2V 42 42| Kg Bh 1,890 1,342
5h4|E X BA AR 140 140 Kg £[#=2 530 450
558| 30 30| Kg b 1,296 702
560|487 2 62 62| Kg =] 2,500 1,812
566|455 HE A < 430 430| Kg b 4,232 1,800
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70110 BA 301 253 48 Kg |EE=E 3,765 3,090(=4%0 1,760 1,566
709|Lb LALF 12 12 Kg TFE 891
710(2 2 AT 709 709 Kg BERS - KE 2,074 187
713|IL L» & HF 10 10 Kg 2yl 1,112
BlBEFALANIN 113 113 Kg SR 771
755\ ®H L 21 21 Kg E=AES 803 728
76l|b Y AEE 12 12 Kg FJE 2,700
763\ Z AMC 5 5 Kg EE 1,648
801 [3BATL = 1S 258 258 Kg mE 2,376 540
802 1 68 68| Kg biEE 1,404 702
805 = 1E 287 287 Kg bF 1,080 745
810|BAKTF 74 741 Kg B =2 2,160 1,577
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